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Question 1

The supremum of the set § =

{2 —S /ne€ N}is

s={2-2men}a® oo
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Question 2

If fi:R—->Randf(x)= ax+
b¥Yx€R (a+0, bare two real
constants) then f'(a+b)
equals to
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Question 3

If f(x) = 1+x*andg(x) =1+
x? 4+ (1 — x)* are two functions
of x then

IMf(x) = 1+ 2% 9 g(x) =
1+x*4+(1 —x]‘”ﬂ% x-dd
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Question 4

If f(x) =xsin§ , x=20

=0, x =0 then
ﬂﬁf(x) = xsini , 20
=0, x=0
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Question 5

If y = x*log, x then y; =
ﬂﬁy = x%log, xOIR(ely, =

Question 6



If f(x) =4x®+x* —4x—1
then
ﬂﬁf(x)=4x3+x2—4x—1
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Question 7

Applying L'Hospital’s

rule to find the value
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Question 8

The expansion of log.(1 + x) as

x2 x3 x4
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Question 9

fGoy) = 2

when x? +y2 = 0

=0 when x = 0 = y then
AMfy) =2 TN 2+

x2+y?
y? = 0= 0 qLA
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Question 10

The pedal equation of the
parabola y* = 4ax w.r.t. the
point (a, 0) is

y? = 4ax 9% Wﬁw (a,0)
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Question 11



Equation of an asymptote of

22
the hyperbola of i
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x2 o
=L = 1°[Igred I9fo
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Question 12

Equation of the envelope of the
family of straight lines y = mx +

i , m#= 0 m being parameter
is

y=mx+i, m=0,m
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Question 13

For the curve x* + y* — 6xy =
0, the origin is a

x* +y? — 6xy = 0 Ip(IId
{96 =1 450

Question 14

The curve y = log, x is convex
with respect to x axis if

y = log, x 4°(d A6 x
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Question 15

The radius of curvature of the
catenary y = cosh G) at any
point (x,y) is
y = cosh (E)ﬁ SIS BE

A (S (x,y) @
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Question 16

What is the infimum of the set
(-1)"
— AT 2
5= {2-!— e anN}.
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Question 17

If a and b are real numbers; then
what is the relation among |a —
b|, |a] and |b|?
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Question 18

IfA=1{1,23,45} B={ab,cd}
and f:A4 — Bissuchthat f =
{(1,a),(2,a),(3,b),(4c),(5d)}

then what can we say about the
function f with respect to
injective / surjective?

Ifm A ={1,2,3,4,5} B={ab.cd}
A9 f:A > Bawiew =
{(1,a),(2,a),(3,b),(4,¢),(5,d)} 2
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Question 19
What is the period of the function
fx) = tanx ?

f(x) = tanx ACTHFFHF
AFTT F6 ?

Question 20
3
What is the value of lin&fl —x)x
pr
?

1
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Question 21

For what value of a, f(x) = [x]
is not continuousat=a ?

-97 (B AMEE ST 1(x) =
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Question 22

If f(x) =2 whenx < 0and
fx) =1+ sinxwhenx =0
then find f'(0) if it exists.



0 f(x) = 2 TAF x < 0 952
flx)=1+sinx, x =202 f'(0)
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Question 23

For what value (or values) of x

T

the sequence {;} is convergent?
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Question 24

X 4 F S i .
Evaluate lim lim>== if it exists.
y—=0 x—=0x+y
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Question 25

What is the angle between the
radius vector and the tangent at
any point of the curve r= 2e7 ?
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Question 26

What is the pedal equation of
the parabola y? = x with
respect to its focus?

y? = x SfEged Aled T
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Question 27

What are the equations of the
asymptotes of the curve
x%p? —ay(x +y) +
2x+3y—-5=07?

x2y? —xy(x +y)+2x + 3y —
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Question 28



What is the equation of the
envelope of the family of
straight lines
xsinag — ycosa =1 (a
parameter)?

xsina — ycosa =1
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Question 29

What is the length of the chord
of curvature at a point of a
curve f(p,r) = 0 passing
through pole?
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Question 30

If the sum of two positive real
number is 10 then what is the
maximum value of the product
of these two numbers?
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